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An examinee must not bring any loose paper, book, etc. except the Admit Card to the Examination Hall. Any examinee found in

possession of even loose papers will be EXPELLED.

No extra sheet will be provided for making notes or calculations. Candidates may use the inner cover pages of this booklet for

this purpose.

An examinee must not talk to, disturb or seek assistance from a fellow examinee during the examination.

No leaf of the booklet must be torn out.

Any mechanical calculating device (calculator, etc.) shall not be used by any examinee during the time of examination.

Mobile Phones shall not be used by candidates inside the examination hall.

No candidate will be allowed to leave or go out of the Examination Hall during the first hour of the examination.

i. Questions are of multiple-choice type carrying one mark each and all questions are compulsory.

ii. Students are required to write the correct answer [i.e. any one of (a), (b), (c) or (d)] in the box provided alongside the
question.

iii. A candidate having completed his/her question-answer booklet must hand it over, even if blank, to the invigilator
before leaving the Examination Hall.

Contravention of any of the instructions mentioned above shall render a candidate liable for disciplinary action as per rule.
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Ajmal National Talent Search Examination, 2008
Class: IV
Time/JN : 2 hours (F6Y) Full Marks/ ‘-Ib 99 : (30+30+40)=100

INSTRUCTIONS / fStisitgait ¢

1. Attempt All Questions.#ATSTHRCH! 2xq Teq H4 |

2. There are four options to each question. Choose the correct option by putting anyagnr® cofor d,
in the box EIfetst et 5If<G! faee Tea fuat wiitr | ww Teach! Ak Slemz Fiwe o<t AF6S a, b, car d fefar)

General Knowledge/ siigiee &is

1. ‘Nam Ghosa’ was written by
TN AT I forfifee 2
a) Sankar De#isse< b)  Madhav Depiso=
c) Damodar Defiam<e< d) Gopal DeyeneeEm |:|

2. Which of the following is not a member of SAARC?
TR (P 0 SAARC T SWGe 7= ?

a) Bhutarig= b)  Nepaleeie c) Singaporgsiem  d)  Maldivessiifast []
3.  Thecurrency of Malaysia is:

NETCATR Tl ZoT—

a) Meticalaficer  b)  KyatRmie ¢)  RinggitR<Pe d) Lira/er []
4.  The author of Harry Potter series:

&S 2 BT fors (I 2

a) Charles Dickengef [T b) Edward Kleinawis (s

¢) Nick Middletonf=s firwis d) J.K. Rowlingce & aifie []

5. ‘Sualkuchi’ is famous for—
ST PR e M =T 2
a)  Silk/6 e b) Bell-metalkzfre1 ¢)  Earthen potsifos I

d) PetroleunteT st |:|
6. The first Secretary-General of UNO was :

UNO 7 /=% 2P (I SifReT 2

a) U.ThangSars b) Trygve Liedafsfr ¢)  Kofi Annan<ske=ia=

d) None of thes@@ e =3 []
7. ‘Yusuf Khan’ became famous as—

0% I {3 e KT 2

a) Salman khaeFsr= 5 b)  Dilip Kumarfufeii =<

c) Aamir Khansisig 4 d)  Om puries==t |:|

8. If*As place valueis hundred & ‘C’s place value is ten thousand, What would be the value of B & E ?
Tt A T FR T 2o SF CF oY & (o6F B o« E T 7 29—
a) Lakh & Croress =< (Fift b)  Thousand & ten lakifsei< i< e
c) Thousand & Lakzeis =< 11 d)  None of thes&iw Qbie 7= |:|
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9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

If SUN is SOON & MOON is MUN, what will be TUN which is a cartoon network.

Tt SuN=F Soon=iF MooNZH MUN CS63 TUN. ..o @ft S~ oF =7 2

a) TinTinG o b)  Toonp c) Tufoe d) Hungamgsm |:|
Alladin’s Lampis a lamp in Arabian Nights—

=T SIS ST Bifs @i —

a) LanterrefRe= b)  Magic LamR i

c) Earthen Lamfnfos 5 d) Focus LamfEsiex bifs |:|
Find the odd one:

CPIAINCE! <R Bferea—

a) Dholc b) Tablas<et c)  Mridangsmwest d)  Violin/eafw []

Which of the following singers is known as ‘Baby Doll'?
TR (PG SN & T e Sees 2

a) Shreya Ghoshadm carFreT b)  Alka Yagnikemers o<

) Nihira JoshfifEar d)  Alisha Chinoystfri cg's []
Find the odd one out:

faieT FYPICH! A1y Sieredi—

LD =L

The real name of Fuehrer was:

TERAR'T 2P0 1 & onifeeT 2
a) Mussolinf@@a b)  Hitler/R&T c) Napoleofeifsrm d)  Churchillsif []

The Eden Gardens stadium j&ger siiee &ea <7 2
a) Mumbaiyzz b) Chennaizazs c) Bangalor&issieis d)  Kolkatas s<iere |:|

Who invented Polio Vaccine?

2(fe1eq fS@LF (P W= FRMRE 2

a) Jonas E. Sallb 2 4% b)  Louis Pasteufg #is

c) Edward Jenngae<rs (sig d)  None of thes@&i @bl 7= |:|

‘Darshil Jafari’ bagged the prestigious Filmfare Award for the film—

T SUPRT (PITA TET < R «[<=i9 #{18fesT 2

a) Masoonwgs b) Jab We Mgt ©2 6

c) Om Shanti Orfex =% @ d) Taree Zameen Pars s |
‘Garib Rath’ is the name given to a—

“of Q17 I e AN 2

a) Chariota=si® b)  Carscs oS c) Boafdls d)  TrainGe []

In the rhyme ‘Pussy-Cat, Pussy-Cat’, Pussy-Cat went to

‘Pussy Catsere Pussy-Cate (a1 (sifeet ?

a) Parig=if<te b) Londonsiass c) Canberrssvwa® d)  New YorkHozse |:|
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20. ‘Vaada Raha'is a punch-line you find in the advertisement of which product ?
“GMI T “ANLEE! (P @RI e =19 31 27 |
a) AirTelas=@= b) Reliancdwics c) AirCelllasgest d) Vodafongsmecw= |:|

21. What are Rashmi, Kakori, Haryali and Shammi types of ?

TRy, 1<, IR = G R 2
a) BiryanjaRx &Kt b)  Parath#®er
¢) KababsrRrR d) SalagzFie []

22. How is Mespotamia known as now a days?
‘(TR SR afewt e 9T e
a) lranZ1e b) Iragss= c) IsraelzsaizeT d) Indonesi&reai |:|

23. Bollywood is in Mumbai. Where is Hollywood?
ATTT JHZS THS | ZfeTCT ¢S ?
a) LondorFresTe b)  Los Angelegmz-@gegs
c) LyongFrrse d) Hollandzwice []

24. What gets controlled in Microwave ovens?
TECFIRS ST <5 [1gel 1 2 2
a) Timesww b) Heater! )  Foodrs d) Salif []

25. The maximum age-limit for participating in the olympic games is:
eI (IR 9IS M0 I T & e —

a) 40 b) 50 c) 35 d) Noagelinfifweiay |
26. The Hillmen of Nepal are called—

IR SAIRIS TR < o (bl =7 2

a) Lamam b)  Gurkhate c)  Thapai d) Paharki=d []

27. Fromwhich plant or tree does kerala derive its name?
(PIFRE 917 1 Slewq 2/[1 (PEET! IS AP 3 (2 ?
a) CoconuyHifR=e=T sig b)  Bitter gourdoeiEET
) Dategeq d)  Palmsm oz []

28. What was the court language of the Mughals?
il Tiet Ol < wnfeeT 2
a) HindifFa b)  Urduy®g c) Persiar d) Turkishs |:|

29. The Ahom Kingdom was founded by—
IR TS (FIET AT T 2
a) Sudangphgrcel b)  Suhungmungzsk c)  Pratap Singh@eeificg
d) Sukaphgr []

30. The Satras— Kamalabari, Aaunihati and Gormur-are in—
PRI, TS, TGS a F© 2

a) Jorhat3<zite b) Pathshalgm=rere c¢)  Majuli/SeEie d) Goalpar#siREieRre |:|
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

General Sciencg g <&@

Stomata is absentin
e TP Bfow T -
a)  Wolffia/S=1rmi b) Pistiafrfe c)  Hydrilla/z=f& d) Lotugsm

The substance used to test the presence of starch in leaves of trees is

SR OO PSR TIERS H<TH SRR IR P 2w 2o

a) Chlorings e b) loding=RfT

c) Brominesi= d) None of thes@xx @bie 723

Rainfall is measured in
3BT (eTIRT @b BT

a) Millimetre/Sf=iitm b)  Litre/FoR c) MetrgoR d) Km/Refs
lodine dissolvesin

A wSIGS @R A1 25—

a) Spirit>EEIN b)  Petroleizst c)  Wateyeit d) Kerosengifs

Prickly pear’s leaves are reduced to spines

IO ARG 512 ATS@R F12bee oo 27

a) To prevent animals from eating theni&ip @@ 22o IR 21 11 w=eet
b) To produce fooldiws ege f<<te

c) To preventloss of water=is g @K <&

d) To store watgpil 3263 BT

Carbohydrates are essential for

PIRRIZGHS AT R~

a) Growth3fa b)  Teeth and bongss =i 2wx sio7

c) Producing energyifie Sesim d)  Keeping the body healtfsgis 57 << 9T
Growing children need more of

fR® 02 Al o7 1R (IR0 A ZF-

a) Fats& b) SugargiFi c) \VitamingfGhm d) Proteing

‘Quinine’ is obtained from which of the following plants ?
TR CPINCD! 5129 2f<1 PRI Coflal A 2
a) Daturgwsi b) Cinchond~  ¢)  Tulsigwit d) Neen s

Which of the following food items is preserved by dehydration ?

YT GO O (PR WY 1<) Ao B A 2

a) Milk/omig b)  Eggset

c) Bananas=t d)  None of thes@gx<< @bl 727

When a burning candle is covered with a glass, it is extinguised after some times because
Gt <l XIS GOIeT fAI=ICRe BIfP et Sl 7ar3 oo =12 T3 pl<el—

a) The airinside the glass becomes hittar< foesa 1y o< =

b) Fresh air can not enter the gl&ss2s foes® Ty CINR I

c) Non availability of oxygen gas in the glAssizs foete Sifie STek &

d) None of thes@z@<x @bl 727

4
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41].

42.

43.

44,

45,

46.

47.

48.

49.

50.

51.

Cloth made from artificial fibres is

Pl Tizg #91 2Fe 1 P 2

a) CottonG b)  Wool/& c) Silkf= d) NylonaEw
The ‘Milky Way' is a

a) ConstellatiofesasesT b) Galaxys<=s=rey

c) Stars d) CometEs

In case of insect bite, we should wash the wound with—

FTSRIE I Ss] FRCRE 4 =Tiel 2

a) Dettofceb=1 b)  Phenyf=izs

c) Chloringsfe d)  Ammonia wateas =z s{i=t

The substance which dissolves in a liquid is called

ST SIS TGS (R A1/ (P Z—

a) Soluteay b)  Mixture/fsm c) Solventrz= d)  Solution
To protect silk and woollen clothes we should use

T < Te PN RIS BT IR P Z—

a) Medicingaz b) Salf= c) D.D.T/RfEf. d) Napthalene ballsf&
Electrical energy is converted into sound energy in

O (PGS (Ao =i w1 =ifieet Foiiefe 23—

a) Electric farftagios #iren b)  Electric trairagfes @it

c) Door bellgsi= =1 d)  Allof thesgsmbEa

The solar system is shaped like a

TSt WP 23—

a) Trianglgfagst b) Sphergsiee c) Straightling=i <1 d)  Disoo®
The brightest planet of the solar system is

CTRemres S6I2we (1R Tege 2% 2 'e-

a) Margsset b) Venugss c)  Saturre d) Mercuryd
The disease that rats help to spread is —

QR (P! ([ RIS =1 -

a) Choler&em b) Malarigewa c) Plagugzet d) Influenz& e
The instrument used to measure atmospheric pressure is

N BI91 (STl THCD! 7T

a) ThermometgrafGER b) Metergaugsoaeiet

c) Berometets@ifiGR d) Lactometetsi@EIRGR

The most abundant gas in the earth’s atmosphere is
RNEETS ba ATRWICE 6l (o1R0B! ZeT—

a) Oxygersfisd  b)  Nitrozen Er =

c) Hydrogergizwwm d)  Carbon-dioxid&rdq-uE-ssizs

[]

I I s I e []

[]
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52.

53.

54.

55.

56.

S7.

58.

59.

60.

61.

The metal used in the making of the body of an aeroplane is —
TIGIRIET (ST TS RIS P 4P =T —

a)  Aluminium«efia b) Steefox!

c) Fibresiz d) Plasti¢Ee

Which of the following is not a property of air

TR (FINCET M 4 =~

a) Air occupies spa¢eR® o2 SIsf{ AT b)  Air has no masgs< < w12

c) Airhas no colourRE 3= 12 d)  Airexerts pressufe3a b @iz

Saliva is helpful in the process of digestion. Itis produced in
/5= 2IfeFAIS R 11 ‘Tl Bl 83—
a) Stomachiie®l  b)  Liver/<goe c) Mouthys d) InstestinesmEe

Itis not good to sleep under a big tree during night, because it releases.
IS GTETIoNT TIE o121 TS (BIA (IR ST =, T RCSTAIR T -

a) OxygensiieH b)  Carbon dioxid&rRA-uig-=<igs
c) Water dropletsii=ia (G c) Carbon monoxidekq-s-=isgs
Scorpions have

531 (6T FTRATI-

a) Twoleggpick b) FourlegsRbick c) EightLeggsibicr d)  Six leggesl )

Which of the following is not a characteristic of a good house ?
oIS (P! @b ©leT TS o1 N=F

a) Plenty of sunshine< < s b)  Plenty of aifelp< a1y
c) Windows full of dusfffem gfeeig #if<=j«f d)  None of thesebie =

What makes a moving ball come to a halt ?
ST (FIRCDIE oIS Bl <l I@TC6T TR—
a) Work==f b) Energyfe c)  Friction/==fi d) Surfaces

Air has water vapour in it, on which day will the air have more water vapour content in it ?
S Sl 1 R | (I o I ([ Stz il fea 2

a) Raining day=zeis fa=y b)  Hot days=w s

c) Normal dayrif<= =y d) Cloudy dayeR<Ri us
A factor causing air pollution is

MY MRS 1 @bl PP R

a) Nitrogrn gagmnaas ¢oig b)  NoisgzTg

c) Deforestatioff=esT R d)  Oxygen gasieH g

General Mathematics/ sigige aifre

The maximum number of composite numbers less than 100 is—
100 1< 2 (T 72| &'
a) 25 b) 26 c 73 d 74

Contd.
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62. 5*2isathree digit number with * as a missing digit. If the number is divisible by 6, the missing digit is—
6 @ frereT fofE SRE@ oIfF® @b MM 5 * 2 © *' 25—

a) 2 b) 3 0 6 d 7 ]

63. TheL.C.Mof30, 42, 48 is—
30, 429 48< 1. . @, T —
a) 1600 b) 300 c)  40x42 d) 1640 []

64. The place value of 6 in the number 423. 876 is—
423.8761ROS 6 1 BT FT 2o —

1 6 1
- _— 66X —
a) 6 b) 1000 9 100 d) 1000 []

65. Ifthe largest three digit number is subtracted from the smallest five digit number, then the remainder is—
56! S 913 SIS < TG 2111 TSB! S 9o SIS Tl FR2G! Riwer e, Sy T3
a 1 b) 9000 c) 9001 d) 90001

66. The quotient and dividend are equal when the divisor is—
SIGG! 6 2 SIS IE ©ST AN 21 2
a 0 by 1 c)  any natural NUMBBIFET eiiFhos el

d 2 l:l

67. The smallestthree digit prime number is—
OG!S oIfde DGR < (T LG 25—
a) 103 b) 107 c) 109 d) None of these |:|

68. A square has a perimeter of 76cm. The length of each side is—
@bl F9fCF@ /BT 76Ccm 2T 31 s 1 ¥I—

a) 4cm. b) 19cm. c) 38cm. d 76cm. |:|
69. The next number in the following pattern of numbers is—
ST NG P AR 75—
32,8 2l =
18,25 g
1 1 1 1
a) g b) 5 9 3 d o []

70. The number of line segments in the following figure is—
T fHarbTs 2l TP (FRINST R4 B —

a) 10 b) 18
c) 22 d)  None of theg& @b =3 |:|

7 Contd.
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71.

72.

73.

74.

75.

76.

7.

78.

79.

In the following sum, “?” stands for which digit ?
T RGNS 2° q I1FS I S5 WIHCG! B —

17+ 27+73+71=218

a) 4 b) 6 c) 8 d 9
The fractions with the numerator 1 are called—

1 =17 faf*i2 SAiEES @Ikl 27—

a) Like fractiongm= 2l b)  Improper fractionsieFs Sale
c) Mixed fractiongs= @i d)  Unitfractiongaz<s @alis*

3
There are 375 studentsina schocg. tf them are boys, the number of girls in the school is—

3
@ FeTe 375%/@-@ ¢ ST FAE CERIEAIR 7L ToT—
a) 225 b) 150 ¢ 125 d)

How many twelfths make a quarter?
TR - am1<#8 @p-box(ieet 5ifoe e 2
a) 12 b) 8 c) 4 d)

The amount of surface which a plane closed figure covers is called—

QBT STTTefeTss <o 5@ SNl sjpa Hife 2's1—

a) Perimetep@is1  b)  Areacwazs c) Circumferencei=i
d) None of thes@aI= «ble 723

1 hectolitre = decalitres.

a) 10 b) 100 C) 1000 d)
The angle 189°is a—

189°GIeIH! T'oT—

a) Rightanglemeae b)  Obtuse anglgze &
c) Straight angle=eT el d) Reflex anglefowirs e

1
A car take§§ hrs. to cover a distance of 330km. Its speed is—

1
@ SIS 330 km e Sifoes f<=et 55 B! T T | B ([ ToA—

a) 50km./hr. b)  56km./hr. c) 60km./hr. d)
The perimeter of the following figure is—
ooTq HaiB A 2o —
3cm. 2cm.
2cm. 2. 2cm.
7cm.
a) ldcm. b) 16cm. c) 18cm. d)

250

10000

80km./hr.

20cm.

Contd.
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80. Th ti t'@E*E"
: e quotientir ==~ is—
31*1—3_—T9P~P_°'T ’
4- 2 © 9 {e—
4 13 1
- =~ 3=
a) I3 b) 7, 0 1 d 37 []

81. Inanexamination 1620 children were to be seated in 36 equal rooms. How many children were there in two ros
@51 I 162057 I1-RIKIE 3651 T (FIIETS IR 310! | K5 (ORI A o1 J1-RIRIEAR TR 2o —

a) 36 b) 45 c) 90 d) 135 []

1 1 .
82. —dozen+§Score= -------- units.

1 1

3 O o PR = oo G

a) 4 by 8 ¢ 10 d 12 []
83. Two consecutive prime numbers are always—

05T @RI TS FR S —

a) Co-primesig (Jifere b)  Evenl

c) Oddsry d)  None of thes&si abte 72w ]

84. Ifanumberis afactor of another number, then their H.C.F. is—
751 MR @61 TG Teoi 2w, &2ed H.C.F.2'3-
a) The smaller numbgtre 32! b)  The greater numb@nes igcH!
c) The sum of the numbewszil o< w2 d)  The product of the numbgmst 75 sjereret []

85. Twice of 9is added to seven times 6. The result is—
6 < 30 @I 1570 9T 1@ (o FINET, TC6! R'I—
a) 50 b) 60 ) 72 d) 48 []

86. At9 O’ clock the angle formed between the hour hand and the minute hand is—
9 &t IS IBI bl < G I (oI Aer (PINET R'oT—
a) 80° b) 89° c) 90°
d) None of thes@aI= «ble w3 |:|

87. Which of the following is true?
ST (FCG! 6! ?
a) Mixed fraction > Proper fractigffe wslics > oo wslies
b) Proper fraction > Mixed fractignge S2ig= > i wsalies
c) Improper fraction < Proper fraCtifmeFs Si* < 2/Fs GI=!
d) Mixed fraction = Proper fractiof¥s @salis= = oo wlies |:|

9 Contd.
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. .90
88. The reciprocal o% - 15[IS—

9
%+E@ﬁms’ﬂ—

a) 1 py 0 — Q) S+ []

o 2
89. Multiplicative inverse 035 is—

2
35 T BOgP RoI_TS 7247 T5—

2 11 11
a) ~33 b) 1 0 1= d 7 []

90. Which of the following are not repeated for writing roman numbers?
G 72T T0RICS ] (PINEI 2gfe w27 2
a) I,X,C b) V,L D ¢ X VL d C,XD []

91. Iftwo line segments meet at a point forming a right angle, then they are said to be to one another.
T (FRIASE GF AN 10T @b o fferceT, e (el 27 sf=sia—
a) Oppositége»<®s b) Parallef==riT c) Perpendiculams
d) None of thes@aI= «ble w3 |:|

92. Measure of]A intriangle ABC is—
ABC fagers [JA I 19 21—
C

j(
A L /g

a) 15° b) 20° c) 30° d) 180° []

93. Areaofasquareis 196sq.m. Twice its side measures—
@bl (e CFaTeT 196G R'eT B9 129 (39 'eT—
a) l12cm. b) 1l4cm. c) 28cm. d 13cm. |:|

94. 5pens costRs. 70. How much will 8 pens cost?
551 371 w7053 2 8 BT 3T i [P 277 2
a) Rs.120 b) Rs.110 c) Rs.14
d) None of thes@aI= «ble 723 |:|

10 Contd.



95.

96.

97.

98.

99.

100.

If four 75cm. pieces are cut from a ribbon of length 4.780m., how much will be left?
4.780M IS Qe RRpels #1755 16! 531 PifbeT i it «ife< 2
a) 6cm. b) 28cm. c) 78cm. d) 1m. 78cm.

The fraction represented by the unshaded region of the given figure is—
TR @S Bl TP B21E el T B B —

2
a) b) 0 5 d 5

o | Ul
ol

The number of match sticks that can be used to write 29 in Roman system is—
292! NI a0 R FNIG! (51 PO LGS —
a) 29 b) 9 c 7 d 6

The number of quintals in 5 tons is—
5 51 {1 PEDeT M ?

a) 10 b) 50 c) 500 d) 5000
The decimal form of 2|
e aeCimal torm 1000 IS—
12345
10003 TN o {—
a) 1.2345 b) 12.345 c) 123.45 d) 1234.5

Atriangle has its sides 8cm., 9cm. and 12cm. long. What type of triangle is it ?

@bl fages A1es ol @ 8cm., 9cm=i<e 12cm. faesid! ¥'9—

a) Equilateral trianglemmr fagst b)  Scalene trianglBFwIz fage

c) Isosceles trianglesfzarz fagest d) Rightangled trianglesca fagst

*kkk*k*



